Name Lucas D 320x320+VD 44 *Y 50159

Qo ‘
hansa24%[" » —
) Profile/Profil 44)(135 Scale/MaRstab Date 07092022




3400

2912

100100

L

100

100:4

7

TP

7

H = 1500 m
TOTAL: 16.51 m2

6200
100 & 2912 100 2900
100 Ll
o
o ()
— N 9?
I I ‘g AZJ
™ T~
8.03 m2 o
N
D204-RT
14:6.5x197.5 i §§ <
6914 7 A | Sl
W119-PT =
V1oéﬁf’209v 710 299 1485 Vzogiof) 2900 V
100 Ll ’
ol Lucas D 320x320+VD 44 " G0159
-~ 1 ' ’_’ 24< Drawing/Zeichnung Plan_Grundplan Format A3

Profile/Profil

4.4x13.5

Scale/MaRstab 130

Date

07.09.2022




AT2 \

AT1

N
S
AT1 <
m
N
=
AT1 ©
~
N
'\\x — o
w 2 §
AT1
AT1
—AT2 AT3
1252
2980
o Lucas D 320x320+VD 44 U 60159
hans _24 brawing/Zeichnune - Eoundation plan_Lagerholzplan fomet A4
Profile/Profil Scale/MaRstab 130 Date 07092022




Pos Model oee Profile |Lengfh
Lucas D 320x320+VD L& (mm) (mm)
Noticel The gable pieces can be parfly pre-assembled!
Please nafice - those differ from the description given in the specificafion list.
Achtung! Die Giebelbohlen konnen fteilweise schon vermontfiert sein!
Bitfe beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.
000 | oL 1] 4hx135 | 3400
001 2y R 1] 4hx135 | 3600
002 oy e P 2 | 44x135 | 3400
003 o i il 1| 44x135 | 3200
004 5t 2l i 1| LLx135 | 3200
005 it o 0 1| 44x135 | 3200
006 it e 0 32 | L4x135 | 3200
007 o e o 2 | Lux68 | 3200
008 | ¢ [ 2 g 1] Lhx135 | 3178
009 | ¢ [y i g 1| 44x135 | 3178
010 S S 0 1] 4hx135 | 3153
01 o -t 7 1] 44x135 | 3152
012 5t 2e - 1] Lhx135 | 3078
013 | g = o 2 | 44x135 | 3022
014 . = o 1| 4Lx135 | 2922
015 5t L u 1| 4hx135 | 2868
016 o e u 1] Lhx135 | 2867
017 O U 3| Lex7T | 1678
018 B — 3| LLx135 | 1362
019 o 1| 46x135 | 1362
020 =0 25 | 44x135 | 353
021 m 1| 44x135 | 353
022 — 1| L4x135 | 299
Kood Lucas D 320x320+VD 44 Materjal File Leht  1/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Lucas D 320x320+VD 44

AutoCAD SHX Text
1/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Lucas D 320x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3400

AutoCAD SHX Text
200

AutoCAD SHX Text
2912

AutoCAD SHX Text
200

AutoCAD SHX Text
002

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3400

AutoCAD SHX Text
200

AutoCAD SHX Text
2912

AutoCAD SHX Text
200

AutoCAD SHX Text
003

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
004

AutoCAD SHX Text
14

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
005

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
006

AutoCAD SHX Text
32

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
007

AutoCAD SHX Text
2

AutoCAD SHX Text
44x68

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
008

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3178

AutoCAD SHX Text
200

AutoCAD SHX Text
2912

AutoCAD SHX Text
009

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3178

AutoCAD SHX Text
200

AutoCAD SHX Text
2912

AutoCAD SHX Text
010

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3153

AutoCAD SHX Text
209

AutoCAD SHX Text
2756

AutoCAD SHX Text
100

AutoCAD SHX Text
011

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3152

AutoCAD SHX Text
208

AutoCAD SHX Text
2756

AutoCAD SHX Text
100

AutoCAD SHX Text
012

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3078

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
013

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3022

AutoCAD SHX Text
2756

AutoCAD SHX Text
200

AutoCAD SHX Text
014

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2922

AutoCAD SHX Text
2756

AutoCAD SHX Text
100

AutoCAD SHX Text
015

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2868

AutoCAD SHX Text
100

AutoCAD SHX Text
2724

AutoCAD SHX Text
016

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2867

AutoCAD SHX Text
100

AutoCAD SHX Text
2723

AutoCAD SHX Text
017

AutoCAD SHX Text
3

AutoCAD SHX Text
44x77

AutoCAD SHX Text
1678

AutoCAD SHX Text
200

AutoCAD SHX Text
1434

AutoCAD SHX Text
018

AutoCAD SHX Text
3

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1362

AutoCAD SHX Text
100

AutoCAD SHX Text
1218

AutoCAD SHX Text
019

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1362

AutoCAD SHX Text
100

AutoCAD SHX Text
1218

AutoCAD SHX Text
020

AutoCAD SHX Text
25

AutoCAD SHX Text
44x135

AutoCAD SHX Text
353

AutoCAD SHX Text
209

AutoCAD SHX Text
100

AutoCAD SHX Text
021

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
353

AutoCAD SHX Text
209

AutoCAD SHX Text
100

AutoCAD SHX Text
022

AutoCAD SHX Text
11

AutoCAD SHX Text
44x135

AutoCAD SHX Text
299

AutoCAD SHX Text
000

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3400

AutoCAD SHX Text
spare log/Ersatzteile

AutoCAD SHX Text
Notice! The gable pieces can be partly pre-assembled!  Please notice - those differ from the description given in the specification list.

AutoCAD SHX Text
Achtung! Die Giebelbohlen können teilweise schon vormontiert sein! Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.


Pos Model oee Profile |Lengfh
Lucas D 320x320+VD &k (mm] (mm]
FOUNDATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT? . . 7 T0x45 | 2980
FOUNDATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
ATT . . 6 T0x45 | 2840
FOUNDATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
ATS3 | . 1 TO0x45 | 1485
PURLINS - PFETTEN
PR3 = =i 1 1] 70x145 | 3700
PURLINS - PFETTEN
PR? T = i 1| 70x145 | 35k¢
PURLINS - PFETTEN
PR o on — 1] 70x145 | 2856
PURLINS, - PFETTEN
PRL — &sk _% 1] 70x145 | 2700
ROOF BOARDS - DACHBRETTER = o [55+1 113x18 | 3303
FLOOR BOARDS - FUSSBODENBRETTER o T |26+1 113x28 | 2907
. . . 20
Ceiling mouldings - Deckenleisten é 15x28 “m/LEm
. | /] 13
Floor mouldings - Fussbodenleisten 1455
4 rm/Lfm
RLIOT-1| Eave slat - Traufenleiste 18xL40 L 18x L0 rmlglfm
gTP—LT Flat roof fillets - Dachpappenleisten RN 15x28 rmlglfm
KART-1| Paraper - Blende 336 o L] 18x336 3118
A% | Parapet - Blende 336 2 2 | 18x336 | 3403
KZAj Parapet cover - U-Profil fur Blenden L] LLx65 3150
é%; Parapet cover - U-Profil fur Blenden 7 LLixe5 | 3503
Kﬁﬁ% Parapet support - Blendestutze LLx65 3 LLx65 200
PZA_ﬁ% Parapef- connecting slat - Blende- Verbindungsleiste 7 18x120 336
TP90-1 Supporf post - Stufzpfoste 90x90 = a6 | 7 90x90 2093
JV1 | Metal bar - Metallstange @10 Q ) | 2 210 500
JV2 | Metal bar - Metallstange @10 Q ) | 2 @10 360
PJ01 | Adjustable post support - Verstellbare Pfostenstufze M16 ﬁ 7
MLO1 | Connecting strip for wall logs - Verbindugsstreifen fur Wandbalken 3
LK | Hit block - Schlaghdlzer [E 3
Kood Lucas D 320x320+VD 44 Materjal File Leht  2/5



AutoCAD SHX Text
AT2

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
2980

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT1

AutoCAD SHX Text
6

AutoCAD SHX Text
70x45

AutoCAD SHX Text
2840

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT3

AutoCAD SHX Text
1

AutoCAD SHX Text
70x45

AutoCAD SHX Text
1485

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Lucas D 320x320+VD 44

AutoCAD SHX Text
2/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Lucas D 320x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
PR3

AutoCAD SHX Text
1

AutoCAD SHX Text
70x145

AutoCAD SHX Text
3700

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
200

AutoCAD SHX Text
2912

AutoCAD SHX Text
500

AutoCAD SHX Text
PR2

AutoCAD SHX Text
1

AutoCAD SHX Text
70x145

AutoCAD SHX Text
3544

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
500

AutoCAD SHX Text
2756

AutoCAD SHX Text
200

AutoCAD SHX Text
PR1

AutoCAD SHX Text
1

AutoCAD SHX Text
70x145

AutoCAD SHX Text
2856

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
200

AutoCAD SHX Text
2612

AutoCAD SHX Text
PR4

AutoCAD SHX Text
1

AutoCAD SHX Text
70x145

AutoCAD SHX Text
2700

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
2456

AutoCAD SHX Text
200

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
55+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
3303

AutoCAD SHX Text
FLOOR BOARDS - FUSSBODENBRETTER

AutoCAD SHX Text
26+1

AutoCAD SHX Text
113x28

AutoCAD SHX Text
2907

AutoCAD SHX Text
Ceiling mouldings - Deckenleisten

AutoCAD SHX Text
15x28

AutoCAD SHX Text
20

AutoCAD SHX Text
Floor mouldings - Fussbodenleisten

AutoCAD SHX Text
14x55

AutoCAD SHX Text
13

AutoCAD SHX Text
Eave slat - Traufenleiste 18x40

AutoCAD SHX Text
18x40

AutoCAD SHX Text
13

AutoCAD SHX Text
RLI01-1

AutoCAD SHX Text
Flat roof fillets - Dachpappenleisten

AutoCAD SHX Text
15x28

AutoCAD SHX Text
13

AutoCAD SHX Text
KPL

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Parapet - Blende 336

AutoCAD SHX Text
4

AutoCAD SHX Text
18x336

AutoCAD SHX Text
3118

AutoCAD SHX Text
KAR1-1

AutoCAD SHX Text
Parapet - Blende 336

AutoCAD SHX Text
2

AutoCAD SHX Text
18x336

AutoCAD SHX Text
3403

AutoCAD SHX Text
KAR

AutoCAD SHX Text
1-2

AutoCAD SHX Text
Parapet cover - U-Profil für Blenden

AutoCAD SHX Text
40

AutoCAD SHX Text
4

AutoCAD SHX Text
44x65

AutoCAD SHX Text
3150

AutoCAD SHX Text
KAR

AutoCAD SHX Text
2-1

AutoCAD SHX Text
Parapet cover - U-Profil für Blenden

AutoCAD SHX Text
40

AutoCAD SHX Text
2

AutoCAD SHX Text
44x65

AutoCAD SHX Text
3503

AutoCAD SHX Text
KAR

AutoCAD SHX Text
2-2

AutoCAD SHX Text
Parapet support - Blendestütze 44x65

AutoCAD SHX Text
8

AutoCAD SHX Text
44x65

AutoCAD SHX Text
200

AutoCAD SHX Text
KAR

AutoCAD SHX Text
3-1

AutoCAD SHX Text
Parapet- connecting slat - Blende- Verbindungsleiste

AutoCAD SHX Text
2

AutoCAD SHX Text
18x120

AutoCAD SHX Text
336

AutoCAD SHX Text
KAR

AutoCAD SHX Text
4-1

AutoCAD SHX Text
Support post - Stützpfoste 90x90

AutoCAD SHX Text
2

AutoCAD SHX Text
90x90

AutoCAD SHX Text
2093

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
2

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
500

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
2

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
360

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
PJ01

AutoCAD SHX Text
Adjustable post support - Verstellbare Pfostenstütze M16

AutoCAD SHX Text
2

AutoCAD SHX Text
ML01

AutoCAD SHX Text
Connecting strip for wall logs - Verbindugsstreifen für Wandbalken

AutoCAD SHX Text
3

AutoCAD SHX Text
LK

AutoCAD SHX Text
Hit block - Schlaghölzer

AutoCAD SHX Text
3

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm


Pos Model oee Profile |Lengfh
Lucas D 320x320+VD &4 (mm) (mm]
2N5_003 Nails - Nagel 2.5x60 for floor boards - fur Fussbodenbrefter 1312
N-0 | Nails - Nagel vierkant 2.5x50 for ceiling boards - fur 01440
2507 | Dachbretter
é%é? Screws - Schrauben 3.0x30  for ceiling mouldings - fur Deckenleisten  wwwwm | 4()
sgag Screws - Schrauben 3.0x30  for eave slats - fur Traufenleisten s | 24
KR-0 | Screws - Schrauben 3.0x30 for floor mouldings - fur ﬂ
3003 | Fussbodenleisten 7
KR-0 | Screws - Schrauben 3.0x30 for parapef connecting slat - fur ﬂ
3004 | Verbindungsleiste des Blendes 6
KR-0 | Screws - Schrauben 3.0x30 for roof felf fillets - fur
3005 | Dachpappenleisten e | 24
KR-0 | Screws - Schrauben 35x45 (3 for connecting strip for wall logs 111
35272 | - fur Verbindugsstreifen fir Wandbalken
L9 | Screws - Schrauben 35x45 (3 for U-profile - fir U-Profi 1136
KR-0 | Screws - Schrauben 5.0x100  for foundation beams - o iiiessiroina | | 3¢
5080 | fUr Fundamentholzer |
KR-0 | Screws - Schrauben 5.0x100 for parapet supporfs - oo 16
5081 | fur Blendestitzen TR
KR-0 | Screws - Schrauben 5.0x70 (3 for parapet fastening - fur NI L
5037 | Blendenbefestigung
KR-0 | Screws - Schrauben 5.0x70 (3 for post supports - fur NUSUTEIN B
5033 | Pfostenstutzen '
KR-0 | Screws - Schrauben 5.0x70 (3 for support posts - fur NS 1| .
>034 | Stutzpfosten |
| o N
MO3 | Nuf for purlins - Mufter fur die Pfeffen M12 @ 3
v
SE37 | Washer for purlins - Scheibe fur die Pfetten M12x37 3
Threaded rod for purlins - Gewindestange fur die
(LO3-] Pfeften M17 - >0
KLT Threaded rod - Gewindestange M8 L 2000
KLZ | Threaded rod - Gewindestange M8 7 578
KL3 | Threaded rod - Gewindestange M8 3 L. 35
KL4 | Threaded rod - Gewindestange M8 / 393
KL5 | Threaded rod - Gewindestange M8 L 300
Nut - Mutter M8 oD |
Washer - Scheibe M8x2L4 11
Fxtended nut - Langmutter M8 L
Kood Lucas D 320x320+VD 44 Materjal File Leht  3/5



AutoCAD SHX Text
Threaded rod for purlins - Gewindestange für die

AutoCAD SHX Text
Pfetten M12

AutoCAD SHX Text
4

AutoCAD SHX Text
150

AutoCAD SHX Text
KL03-1

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2503

AutoCAD SHX Text
Nails - Nägel 2.5x60   for floor boards - für Fussbodenbretter

AutoCAD SHX Text
312

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Lucas D 320x320+VD 44

AutoCAD SHX Text
3/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Lucas D 320x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2501

AutoCAD SHX Text
Nails - Nägel vierkant 2.5x50   for ceiling boards - für

AutoCAD SHX Text
Dachbretter

AutoCAD SHX Text
440

AutoCAD SHX Text
M03

AutoCAD SHX Text
Nut for purlins - Mutter für die Pfetten M12

AutoCAD SHX Text
8

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3001

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for ceiling mouldings - für Deckenleisten

AutoCAD SHX Text
40

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3002

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for eave slats - für Traufenleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3003

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for floor mouldings - für

AutoCAD SHX Text
Fussbodenleisten

AutoCAD SHX Text
96

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3004

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for parapet connecting slat - für

AutoCAD SHX Text
Verbindungsleiste des Blendes

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3005

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for roof felt fillets - für

AutoCAD SHX Text
Dachpappenleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3522

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for connecting strip for wall logs

AutoCAD SHX Text
- für Verbindugsstreifen für Wandbalken

AutoCAD SHX Text
12

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3529

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for U-profile - für U-Profil

AutoCAD SHX Text
36

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5080

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for foundation beams -

AutoCAD SHX Text
für Fundamenthölzer

AutoCAD SHX Text
36

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5081

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for parapet supports -

AutoCAD SHX Text
für Blendestützen

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5031

AutoCAD SHX Text
Screws - Schrauben 5.0x70 C3   for parapet fastening - für

AutoCAD SHX Text
Blendenbefestigung

AutoCAD SHX Text
44

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5033

AutoCAD SHX Text
Screws - Schrauben 5.0x70 C3   for post supports - für

AutoCAD SHX Text
Pfostenstützen

AutoCAD SHX Text
8

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5034

AutoCAD SHX Text
Screws - Schrauben 5.0x70 C3   for support posts - für

AutoCAD SHX Text
Stützpfosten

AutoCAD SHX Text
4

AutoCAD SHX Text
SE32

AutoCAD SHX Text
Washer for purlins - Scheibe für die Pfetten M12x37

AutoCAD SHX Text
8

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
528

AutoCAD SHX Text
KL3

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
3

AutoCAD SHX Text
435

AutoCAD SHX Text
KL4

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
393

AutoCAD SHX Text
KL5

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
300

AutoCAD SHX Text
Nut - Mutter M8

AutoCAD SHX Text
11

AutoCAD SHX Text
Washer - Scheibe M8x24

AutoCAD SHX Text
11

AutoCAD SHX Text
Extended nut - Langmutter M8

AutoCAD SHX Text
4


Pos Model oee Profile |Lengfh
Lucas D 320x320+VD &1L (mm) (mm)
Drive-in nut - Einschlagmutfter M8 11
Kood Lucas D 320x320+VD 44 Materjal File Leht  3/5



AutoCAD SHX Text
Drive-in nut - Einschlagmutter M8

AutoCAD SHX Text
11

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Lucas D 320x320+VD 44

AutoCAD SHX Text
3/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Lucas D 320x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)


bos Model S| Profile Length
Lucas D 320x320+VD &L (mm) (mm)
WINDOW 690x1470 1
W5-SLLP-0XT-06901470
690
W119-PT
]
I\ / Right handed - DIN rechts
///\ Tempered glass - Gehartetes Glas
ol |7 Opens inside - Offnet innen
2 |IN
AN
AN
AN
/ \
KR-0 | Screws - Schrauben 3.5x45 (3 for door and window frims - fur n
352k | TiUr- und Fensterleisten
Kood Lucas D 320x320+VD 44 Materjal File Leht  4/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Lucas D 320x320+VD 44

AutoCAD SHX Text
4/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Lucas D 320x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
WINDOW 690x1470

AutoCAD SHX Text
 W5-S44P-0XT-06901470

AutoCAD SHX Text
1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
24


Paos

Model
Lucas D 320x320+VD 44

Pcs

Profile
(mm)

Length
(mm]

DOOR 1465x1975
D5-DL44LR-TXT-14651975

1465

1 D204-RT

1975

SA)
U

Right handed - DIN rechts
Tempered glass - Gehartetes Glas

Opens outside - Offnet aussen

KR-0
3524

Screws - Schrauben 3.5x45 (€3

Tur- und Fensterleisten

for door and window frims - fur

Kood

Lucas D 320x320+VD 4L

Materjal

File

Lent

5/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Lucas D 320x320+VD 44

AutoCAD SHX Text
5/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Lucas D 320x320+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 1465x1975

AutoCAD SHX Text
 D5-D44R-7XT-14651975

AutoCAD SHX Text
1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
28


KL1+KL2 3400

KL1+KL4
TZOO ,,,,,,,,,,,,,,,,,,,,,, 303 ]
i — . 07 1/
| I —— o ———— = 002
L*;;—’ e A1 006
] 006
] 006
HT] 006
1] 006
1] 006
LT A1 006 ®
1 11| 006 N
1 H 1] 006
1 H 1] 006
| H A1 006
il H1| 006
il 1] 006
1 H A1 006
] 006
":I‘_ T ___ 889
Sein A au <~ _
MmAETQ <
Ll 2912 1L
100 4 4L 00
é) 2956 Cb
3200
AT Lucas D 320x320+VD 44 U G0159
}‘f Z"ﬁ iT (:; E} 24<) Drawing/Zeichnung Wa”/Wand A Format A4
Profile/Profil 44)(135 Scale/MaRstab 130 Date 07092022



AutoCAD SHX Text
Sein  A

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
002

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
007

AutoCAD SHX Text
017

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR3

AutoCAD SHX Text
AT2

AutoCAD SHX Text
AT2

AutoCAD SHX Text
KL1+KL4

AutoCAD SHX Text
KL1+KL2


KL1+KL2 3400

T [y —a

T cf] =T 002

g o= 17006
g HT] 006
g HT] 006
g 1] 006
g 1] 006
g T 006
g Tl 006
g Tl 006
g HT] 006
g HT] 006
g 1] 006
g 1] 006
g Tl 006
g Tl 006
g Tl 006

H 865

Sein B — — —
T < <

1 2912 1

100 4 L4100

[ 2956 [

2498

3200

Lucas D 320x320+VD 44 U G0159

ff Z] |‘ r': (_‘* 24 <“ Drawing/Zeichnung Wa”/Wand B Format A4

Profile/Profil 44)(135 Scale/MaRstab 130 Date 07092022



AutoCAD SHX Text
Sein  B

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
002

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
007

AutoCAD SHX Text
017

AutoCAD SHX Text
PR2

AutoCAD SHX Text
PR3

AutoCAD SHX Text
AT2

AutoCAD SHX Text
AT2

AutoCAD SHX Text
KL1+KL4

AutoCAD SHX Text
KL1+KL2


KL3 3400

KL5 KL5
y 200 3303 2007/_
i , Y
L =0 = J 001
i 1177005
g g
— —
Sein C 7|r T I
. 3200 .
é) 2956 Cb
O Nome Lucas D 320x320+VD 44 U G0159
/0 ——
imi E”ﬁ i.-.[ S E‘_I 24 g:) Drawing/Zeichnung Wa”/Wand C Format A4
Profile/Profil 44)(135 Scale/MaRstab 130 Date 07092022



AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
Sein  C

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
001

AutoCAD SHX Text
005

AutoCAD SHX Text
017

AutoCAD SHX Text
PR2

AutoCAD SHX Text
PR4

AutoCAD SHX Text
KL5

AutoCAD SHX Text
KL5

AutoCAD SHX Text
KL3


Sein 1 q<—

6200

200

=
=

KL5

200 L

ui

008

013

D1

AV mPAK]

U7

003

004

1| 004

1| 004

1| 004

q | 004

1 | 004

1| 004

1| 004

1| 004

1| 004

1| 004

q | 004

1 | 004

0| 004

2912 "

10

L1 100
2956 l

TP30-2

0N

2295

2800

3200

eme Lucas D 320x320+VD 44

KU G0159

ansa 24

Drawing/Zeichnung

Wall/Wand 1

Format A4

Profile/Profil 4 4X 13 . 5

Scale/MaRstab

1:30

Date

07.09.2022



AutoCAD SHX Text
TP90-22

AutoCAD SHX Text
Sein  1

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
003

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
008

AutoCAD SHX Text
011

AutoCAD SHX Text
013

AutoCAD SHX Text
015

AutoCAD SHX Text
KL5

AutoCAD SHX Text
KL5

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2


Sein 2 7F_

6200 KL3 KL3
2000

—i::::::::::::::::::::::::::::::::::::::::::::::::::::i—i:::::::::::::::::::::::::::7,::::::::::::::::::::f—::;z .
- Bl L Hl 1 013
T e e
H S| 12 M| 014
1020 022 HIT 021 n
1 020 022 1| 020 A
1 020 022 1| 020 B
1 020 022 1| 020
1 020 022 1 | 020
H 020 022 H ] 020 2
M 020~ 022 - H | 020 N
1 020 022 § H | 020
1 020 022 1| 020
1 020 022 1| 020
1 020 022 1 | 020
i 019 ] 020
i 018 ] 020
i 018 H ] 020
H 018 H | 020

T
“209"[ 710 1 299 ! 1485 .[209"[.[
L LL 100
| 2956 L 2800 |
® ©

3200
On Name Lucas D 320x320+VD 44 Y G0159
hansa 24 “ prewng/zeichning Wall/Wand 2 rormet Ad
Profile/Profil 4 4x13.5 | °cele/Mafsted 1:30 pate 07.09.2022



AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
Sein  2

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
009

AutoCAD SHX Text
010

AutoCAD SHX Text
012

AutoCAD SHX Text
013

AutoCAD SHX Text
014

AutoCAD SHX Text
016

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
019

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
021

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
KL3

AutoCAD SHX Text
KL3

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1


